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280 |1, 1, 2—RN)rpoox k.
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403 [T ) 0.002 0.0008 0.003
404 | ~_oE a7 x ) —)L
405 [1FHFILEW 212 8.0 23 6.7 50,567 50,817
406 |PCB
R mFLo) =T LF /L —T )b
407 | (T X NVFEDRFBEDN120615FTOL 3,325 1,317 11 191,323 6,389 202,364
Q&(ﬁ%mﬁéé\ IZFRD, )
408 i”_(ifi/iﬁ//)_jy%ﬂ/7i”l/ 16 368 0.95 326 14 755
R (AFT=FL o) =RFilo—7)L
409 R T 2 S s 90 1,655 0.017 36,865 10,045 48,655
410 i%ﬁwiﬁ//)_/*"wji*"m‘ 475 834 20 566 52 1,947
411 [V LT IVTER 10,251 172 981 416 41,769 246/ 10,394| 17,835] 1,214 68 1,750 368 1,031 86,497
412 |~ H U R OZEDILEW 1.8 48 5.6 2.9 132 190
413 K7 Z 1 1.5 1.5
414 IR~ AR 0.009 0.000001 0.009
415 [ AZ7V)VER 22 0.33 23
416 | AR TVVEE2 — =F JL~F )L 1.4 0.003 1.4
A17 | ARTVVER2, 3— /R¥% 7 atk’)L
418 | AZTVNVEE2 — (VAFINVT ) =F )L 0.002 0.005 0.007
419 | AZTUVER )V~ )LV —T F )L
420 | AXTVVEEATF )L 312 93 1.8 406
421 [A—AFVT o AFBH —2—F
422 |7 508 508
423 [ AF LTI 0.0002 0.000004 0.0002
424 | AFN=AVF AT F—h
425 AV FahNT
426 |HIVRTT
427 [A "L 80 109 189
428 |7 )7 HNT 191 191
429 [~NoRLTEL ATV 487 487
430 (A R¥Y LT
431 |7V ¥ AbaE 46 46
432 | 73T R 20 20
433 |[H— 3N 300 300
434 | AFV I 14 14
435 |EUI NI AT )L 829 829
436 | TNV T 7 —AF )V AF L
437 |3—AF NT A7) —)
438 [ AFNLFTHL L 8.6 311 0.031 319
439 [3—AFLEVD
1—AF)L—1—Txz=)LF /)L =tRa~
40 | Sk 0.090 0.40 0.49
441 2— (1—AFNLTHEN) —4, 6—=Iu
7 /)—)
442 | X7 o=,

Q-7




KIEF35 IR - b G220 TLRI B BEHERHRE S (02248 11 1150 (1. Sk Se3fli  b5 Jr 3367042 1D B ~ 23, FE SRR BE R i

S E FERPEH B (kg/4E, X A4 FEHIdmg-TEQ/4E)
B 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
(=g FIEE 51 A o | . . o R N —fRpE | PEZEPE Az

= WE 4 \ sty spi 1 " s, [IEGEBETG | DevgA e | BIRAE | L= | 23D —an FREREED | PoE | fize we | AVVE | X AAF | IRER | T s &t
w5 Thogr| B R BEA R e a | ovr | o | AEVE ) R TR B | T 0 e | oo | | mi | el | i
443 | AV 92 92
444 |N)7 oL Ak 35 35
445 [T VXL DAF )L
446 |4, 4’ —AFL U7 =)
AFL R4, 1= 7a~FilLy) =
447 SRk 0.45 0.45
AFLUER(4, 1—Txz=Ly) =AYy

448 5k 32 32
449 | T2 AT 4T 7
450 |7 FHLT 36 36
451 |[2—ARFL —5—AF LT =Y
452 2= ANVAT IS F T —)L 6.3 6.3
453 | BV T R OZFDILEY 1.1 118 58 176
454 12— (BNVHRN I OFH) XU F T — ) 0.51 0.51
455 |FE/LARY 77 265 342
456 |DAALT LI= 4
457 |7V A 445 445
458 [VAPBER A (2 — T )L ~F L)
459 |WAFENA (2— Z/aaxF /L) 0.71 0.71
460 | AEERNIRY L 0.71 0.71
461 |WABEN 7 ==)L 1.9 1.7 3.6
462 [W AN — /)L~ )L— T F )L 0.00008 0.0004 0.0004

B it 251,593 67,2231  2,562]  8,058] 1,313,554 16,628| 349,427 54,997| 17,496 6,188] 693,478 10,642] 23,242 101,473| 3,642] 558 1,673 40,710 711 75,947 66,337 2,081 38,127] 3,145,635

1)-8




